PRE-ALGEBRA - - CHAPTER 3
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SUBTRACTION WITH INTEGERS - EXTRA PRACTIGE

Find each difference,

1. 15-8= F

4 -12-¢n=—5
7. 10 -~ (~10) = AOD
10. 17 — (-9 = &}
13, 26-34 = &

16. 25 - (-2 =C
19. =29 - 17 = ~4lb
22 48 - 20 = —GO
25, 64 - 49 = /5

28, 72 - (=35 = JOF
M. -8 - (-12) = =3¢,
M4, -3 - 49= /2
37. 5 - (-1 = 39

2. 15 - (-8) = A3

5. 24 — (-3) =27

8. -1l --1n=0
. ~19 = (-1)= -3
4, -21 -9 = ~30
17. 42 - (=30 72
20, ~84 - 16 = 00
23 19 - (-15) = 34
26. -89 — (-39) = O
29. =35 - (-12) = =33
32. 68-49 = /G
35, ~74 - T4 = - /48
38 -52-2 = ~ F&

0. Two golfers completed one round of goif. The first golfer had a score

of +6 (six shots over par) and the second golifer had a score of ~3
{three shots under par). How many morc shots did the first golfer

take?

41.  Accountants work with credits and debits. Credits can be shown as

positive numbers of dollars and debiis as negative numbers of dollars.
What is the balance as a resubt of having a credit of S84 und a debit of

3297

~9 -6 = —I5

3520 7 U5
_25 - 13 = ~ 3B
B = H2

27 - (-15) = 42

-53 - (-52y= — [

18 - (-22) = 40
~18 - 33 = ~ 5/
—16-19 = —35 3
69 -53 = /b |
115 - (<35 = /50

48 -2y = FO
82 - (- = - 33

G—(~3)= 95hots
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